Test 4
MATH 45021 - Euclidian Geometry
Summer I - 2014

Print Name Signature Date

1. Let AABC be a right triangle and D be its centroid. If AB = 3 and
BC =4, find BD.
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2. In a right triangle with hypotenuse 6, the inscribed circle splits the
hypotenuse in two segments, one being twice as long as the other. Find
the perimeter of the triangle.
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3. What is the orthocenter of ABCH where H is the orthocenter of the
AABC? Give complete explanations.

Jot- KD, ﬁyEl[g_, = %flmls S ARLC

%w\o‘m A bHe P HD L =) i’bhﬁﬁ

CHLAD é“'w CH=CK
—yab LcH => $BA hupat,

£ AL bE = CAL b =>Chhuphh

T&”‘*g’“ o nHaoeomten l A hke (s

e hNBANHD= {AE]




4. Let AA” B”C” be the anti complimentary triangle of AABC. Identify
the

a) centroid
b) circumcenter

d) center of the nine-point circle of AA”B”C”. d) m 4, Sl

Give complete explanations.
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5. Let AABC have a right angle C. Prove that the median CC’ is the
Euler line. Is there any other type of triangle in which CC” will be the
Euler line?
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